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57,390, 000& * 14! x50% 28,695
8,790
19,905
300, 000& »100ha*50% 15,000
6,000
9,000

M

— A HetH K&

M

sH=SEE gubl XN 184,800 11,000
92,400

92,400

173,800

MW

206 M= Hl 184,800 11,000
92,400

92,400

173,800

MW

01 M= 4l
O=HIEx At

— o a8 2

184,800 11,000
184,800

96,800
48,400
48,400
88,000
44,000
44,000

173,800

96,800,000 *1J4 2~

MW

110, 000& *800ha

M H

doHSsSESHEesH 2,470,614
147,716

61,940
430,507
,830,451

3,104,967 A 634,353

HH S

ESHSISE M4 367,466
20,000
81,482
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AN HEXNAD
HE: ANSBHSSY
©el: SERNSDEIMMN (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 11,000 20,200 A 9,200
01 At 22l 2,000 11,200 A 9,200
OSssEs =8 500,000 x4 2,000
03 &Ar2 I 9,000 9,000 0
OAxzwa ZA=& & 2& 600,000 *152] 9,000
207 51 OH £ Hl 20,000 0 20,000
01 2284 20,000 0 20,000
O%BRS W &2
20,000,000& =14 20,000
HEASSIA S UL 66,160 70,000 A 3,840
202 (4l 2,160 0 2,160
01 =i HI 2,160 0 2,160
Ollsl2d ¥ ESsd= M= XA O
=]l 120,000& 3 61 & 2,160
402 RI2EXt20l ™ 64,000 70,000 A 6,000
01 212t 2 AL E = (REMTH ) 64,000 70,000 A 6,000
OSMES 24 (52X, 2011) 64,000
—N2ssHH *= 6,000,000& =8CH x50% 24,000
—2F 8,000,000& 58 x50% 20,000
— X K& 1,600& *20,0000H x50% 16,000
—0F =&Y 80,000 *100= «50% 4,000
SEEZSTHAJAAY 147,555 146,836 719
< 72,482
s 75,073
402 RI2HXt20l 147,555 146,836 719
< 72,482
s 75,073
02 22t 2 AL EZ (01X TH ) 147,555 146,836 719
OEHIEZAY 147,555
—UBNE HFMUN
28,000,000& *10ha*50% 140,000
< 70,000
e 70,000
— 222 HAXRA 405,000& *20ha*80% 6,480
< 1,944
s 4,536
—SEU XA 43,0003 *504F Xt +50% 1,075
< 538
fia 537
EEAZAMNEA UK RAALS 50,000 0 50,000
= 20,000
= 9,000
s 21,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 50,000 0 50,000
= 20,000
< 9,000
s 21,000
02 QI EAILEZ (01X S) 50,000 0 50,000
OIHIEx= At 50,000
~SSRSYNAL H5
50,000,000 =14 50,000
= 20,000
= 9,000
s 21,000
A2 HHIETHE 72,751 101,480 A28,729
101 144 dl 27,951 26,050 1,901
4 JI2ZtHZ22HEE =+ 27,951 26,050 1,901
O&el o2y 51,7603 +x3& 180 27,951
201 Let24d] 28,000 50,300 222,300
01 At 22l 28,000 50,300 A 22,300
OEX Xt 850& x20,000m* 17,000
OJIetx s HHIYRH(2AIIE)
550,000& »2CH*10 11,000
206 M= Hl 16,000 25,130 A 9,130
01 M= 4l 16,000 25,130 A 9,130
EPNEE 500& x20,000m" *13] 10,000
S]] 300& 20,000 m" 6,000
405 XHobF S HI 800 0 800
01 At EZFH S 800 0 800
OHdlZ & & | 800,000 = 1CH 800
AUHSI=E= 788,540 1,033,540 A 245,000
= 120,000
< 71,000
i 597,540
FHHESHMI =X 155,540 154,040 1,500
201 Yur2 Y| 15,000 15,000 0
01 At 2t 2l 12,000 12,000 0
OIS 12,000
—WE ZAE 300,000& =203l 6,000
— 1 TH A E 5,000& 600 3,000
— s A 60,000& =103l 600
— &N AE YR 600, 000& *43] 2,400
03 &Ar2 I 3,000 3,000 0
O=e220t g3l 3,000,000& =13l 3,000
206 T 24 8,000 8,000 0
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01 =8l 8,000 8,000 0
OZSHWA Mok AlE e +
5,000& *800kg 4,000
OO MAN HIRAIEEZ I ¢
2,000,000& *2ha 4,000
301 gt L= 5,040 5,040 0
09 HALAHIEA S 5,040 5,040 0
ORHAEE s &I S
7,000 60 123 5,040
307 glz2tol & 10,000 0 10,000
02 It HAMHEE 10,000 0 10,000
O™WIERI=sI 8 & 2444
10,000,000& *1JH £ 10,000
402 2I2H X201 M 117,500 126,000 A 8,500
01 2I2E 2 A B (KM ) 117,500 126,000 A 8,500
OBME ZAAY 2ZY N
100,000& *600& *50% 30,000
OA4doteA 33 N& 15,000
— 0l 6,000, 000& *5CH *50% 15,000
OALSH= &Iz AlY 72,500
— 2SS HI ZH(HEXM)
,000& x32,000m" *50% 32,000
— 2USHUX EH(LUDE)
200& *40,000m* *50% 4,000
— 1= HE M 2,500& 10,000 m" x50% 12,500
—NASHS(OILHML S)
12,000 *4,000m* *50% 24,000
LIRS QYA 198,000 242,000 A 44,000
402 RIZ2EX20l ™ 198,000 242,000 A 44,000
01 Q12X 2 Ar 2 2= (REXIXH &) 198,000 242,000 A 44,000
OLI|EE e X3 198,000
- 358 A4 40,000& *5,000m*50% 100,000
—=RoteA 20,000& *5,000m" x50% 50,000
—HzITE 2,400& *40,000Z x50% 48,000
NS ESIAA 24,000 24,000 0
402 BI2EX =01 M 24,000 24,000 0
01 2I2EH 2 A B (KM ) 24,000 24,000 0
Osts &322 XA 1,600& 30,000 m x50% 24,000
s AJlE A=) 240,000 100,000 140,000
= 120,000
e 120,000
402 RIZ2EXt20l ™ 240,000 100,000 140,000
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= 120,000
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02 BIZtXIEANYEX(0OIETHH) 240,000 100,000 140,000
O=2HE2xAS 240,000
— 8= QHIE ¢ SHME €I &
=23 AdY 80, OO0,000S*UH& 80,000
o 40,000
= 40,000
—2z2de} S JIsd ANME 288 18E
AEd HHAE MMSX T4
30,000,000 =10 £ 30,000
= 15,000
= 15,000
—ANAEMA & A0F MU IsE2s3AH
30,000,000 =10 £ 30,000
= 15,000
= 15,000
—ICT &2 20 MEY &4 Il AlY
40,000,000 =10 & 40,000
= 20,000
= 20,000
— 33 =mUEsd 235 U
G0,000,000%*UH_’.\_ 60,000
= 30,000
iy 30,000
NPT 171,000 276,000 A 105,000
= 71,000
= 100,000
402 QI2H X 20| & 171,000 276,000 A 105,000
== 71,000
= 100,000
02 BIZtXIEANYE X (0OIETHH) 171,000 276,000 A 105,000
OEHIEXZAS 171,000
202 RIS MG AE
50,000, 000& *1JH 2 *80% 40,000
= 15,000
= 25,000
— 528 AQIE 24 2AY
25,000, 000& *1JH 2 *80% 20,000
= 10,000
= 10,000
—ANEJUEES SEEL AY
25,000, 000& *1JH 2 *80% 20,000
< 10,000
= 10,000
— AMNE0 KNSIHH Mg AlY
10,000, 000& *2JH 4~ *80% 16,000
= 6,000
= 10,000
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& 5,000
2 5,000
— %) DAEASE S 22 AL
90,000,000 1 A *72.222% 65,000
= 25,000
= 40,000
NEZAANS A 1,314,608 1,572,211 A 257,603
2 7.716
J| 61,940
< 278,025
= 966,927
SHIIF X &AM 182,500 218,500 A 36,000
402 BI2H X 20| M 182,500 218,500 A 36,000
01 SIZEXI2 ALY E X (XM TH) 182,500 218,500 A 36,000
ORNMFsY LMHXXH
2,400,000& *»100ha*50% 120,000
O3 A AYIHH 500, 000& *50ha*50% 12,500
OEuY R A 4,000, 000& *25ha*50% 50,000
S MAAIE XS 347,000 343,000 4,000
402 QI2v X2 0| & 347,000 343,000 4,000
01 It E AN EX (M) 347,000 343,000 4,000
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OWMoHE #HotA Ax X 100,000
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20,000& *10,000m" x50% 100,000
OHIJIIHAETHASR XA 100,000
— HIJIEGIRA A= 20,0002 *10,000m *50% 100,000
OANMEMNA sgs 23 N 28,000
—=82H 8,000, 000& *72= *50% 28,000
OEJIMHE &FHH X & 44,000
—=s2ueD|(aA) 4,000,000 «10CH *50% 20,000
— A UED|(EH) 900, 000& *20CH *50% 9,000
— 2tH| D] 6,000,000 *5JH 2 x50% 15,000
SHE20F HIHAEZBZAIAE K& 4,290 101,405 N97,115
= 1,716
& 772
= 1,802
402 BI2H X201 M 4,290 101,405 N97,115
= 1,716
= 772
= 1,802
02 BIZEXIEANYEX(0IETHH) 4,290 101,405 N97,115
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= 10,000
— 552 A ANEMA
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= 16,500
= 16,500
— MHAMAAlA S O3
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o= 14,000
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101 @121 H| 37,268 34,733 2,535
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Oaeloe 51,7603 x4 180 37,268
201 LBt | 37,300 38,500 A 1,200
01 AP 22| d| 37,300 38,500 A 1,200
OEX Xt 850& *40,000 34,000
OJIgtE2A ZH U (Z2AMDS)
550,000 x20H *»3 3,300
206 M = dl 20,000 23,623 AN 3,623
01 X2 4| 20,000 23,623 N 3,623
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XA 63,511 102,529 A39,018
GAEXHEHDDS RSN 63,511 102,529 ~39,018
101 Q124 H 29,151 27,169 1,982
M4 JIAHZENER 2 29,151 27,169 1,982
ozegloey 29,151
—-Jez 51,7622 *2% x200 20,705
— =g 51,7602 x2 & x40 4,141
—oixtae 51,7609 x2% 72 725
-882 25,568,0002! * 14% 3,580
201 UBr2 A | 24,360 25,360 A 1,000
01 AL 22/ H] 10,360 11,360 A1,000
OUxWs Y APE g 4,000
— ®AE %x g 5,0002 x4 1002 2,000
—MAl 2T R 20,0009 *100Z 2,000
OF2I AdUWE 60,0002 * 122 720
O=R01AH gy 350,000 x 122 4,200
Oz Y 242 120,0002 * 122 1,440
02 222 14,000 14,000 0
OS2 50,0002 * 122 600
oFIIe2 1,100,0002 122 13,200
O JEZ2R2(BINERL2S)
50,0002 x43] 200
401 AIEHIZ 2 THHI 10,000 50,000 40,000
01 Al&HI 10,000 50,000 40,000
OAN&E SX8% 2,000,0002 %53 10,000
H=HESH 4,346,500 3,037,000 1,309,500
= 2,148,250
[ 630,000
z 1,568,250
SMolss A 10,000 118,500 108,500
= 10,000
HAsMgEAN S 10,000 10,000 0
2 10,000
307 BI2t0| & 10,000 10,000 0
= 10,000
02 CI2EH A ALA B X 10,000 10,000 0
OZHIEEAY 10,000
— HUSAY HAX ALY
10,000,000 * 14! 10,000
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101 14l 21,800 21,500 300
= 10,900
< 3,270
[ia 7,630
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02 It EAIL EZ (01X S) 150,000 150,000 0
O=HIEX ALY 150,000
—dasgod At
3,000,000& x50H 150,000
= 45,000
< 13,500
s 91,500
HedsddINALH 4,000,000 2,600,000 1,400,000
= 2,000,000
< 600,000
[ia ,400,000
401 AIEBIZ 201 8I 4,000,000 2,600,000 1,400,000
= 2,000,000
< 600,000
s ,400,000
01 A& HI ,989,200 2,600,000 1,389,200
O=HIEXZ ALY ,989,200
- 58 =Y I M E A
3,989,200,000& 3,989,200
= 2,000,000
< 600,000
e ,389,200
03 AIE 2 0HHI 10,800 0 10,800
OZHIEx= At 10,800
-5 s¢ AL
000,000,000& *0.27% 10,800
HY 2L ZH (S XA D) 96,192 107,952 A 11,760
Jl=3l 96,192 107,952 A 11,760
JlE2&l 96,192 107,952 A 11,760
201 LBt 54,552 66,312 A 11,760
01 At 22l 37,908 47,668 A9,760
ORNBH 1,831,000& »18H 32,958
O=&Hl 7,0003 x18H 25 3,150
OYXZ(F|AIN) 150,000& = 1CH »12& 1,800
02 8323l 16,644 18,644 A 2,000
OXedEE= 640,000& *3CH 1,920
Oxtg A2l 14,000
-5 5,000,000 = 1CH 5,000
=1 5,000,000% = 1CH 5,000
— 3= 4,000,000 = 1CH 4,000
OF= = D PR = = 120
— Xt 20,0002 *3CH 23] 120
OXtS XHA 604
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